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Review:Independent events A.B

Pr(AD =Pr(A/B)

Pr (B) =Pr (B1A)

Also Pr(ArB) =Pr(A). PoCB)
↳TNA Pr(AIBC) inPr (5) =Pr (BP1A)
Tr(A-B) =P0(A) - P(BK

OA



*AvBL =Pr(A).Gr(B)OA=>
Pr(A -B( =Pr(A).P(B)

=> Pr(A)-PrCAuBP =Pr(A).POCB]

=> pA) - Pr(A1BY)
=Pr(A)NB)↑* Pr(AvBP =*P0(A)Pr(B)

↳(A0BC=Pr(A) - 4.(B)



#Probability

*S*B2

2

xcotif in b set inS
B,B,... B1z

B, 0B,0... .B
①BinBi =disjoint2 =5,Bi =2



Partitions Bs, B,.... Bi of the
->

Pr(A) =Pr/AlB)Pr(B.) +PrCAlBnD.PCB2)
+... +Pr(Allin) PrCB,)

= pABS.POTS
j
=7

A
If A =h

Pr(z)=1** -EP(2/B). POSB
12

(35 ↳
=4. (B;)



Pr (A) =Pr/A/5).Pr(B)
+ PrCAIB) Pr(B)

4A =(AvB) - (A-B) XXXy%
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*ack ztz =I
Prlredball -p(r10) PrConL # P(r(Vz).P(uz)

3/12) + 1(4 =13/28



Two Events A,B

AB pabilityP.src.QD
-> 0.1

0.2

A
Toe False#==s51:


